Review of Cuts we have studied so
far:

e Delta T for each particle species and sub detector

« Kinematic Fitter Confidence Level

« Beam Energy Cut

« Beam Bunch Cut (RF Time)

* Vertex Cuts

* P vs Theta Cut for Photons (Reduces Secondaries)
 Number of photons reconstructed in the event

 All of these have been discussed in detail in my Analysis Note



Review of Cuts we will discuss:

* Proton momentum cut

 How does the Barnes Cut perform in my analysis?
« Comparing CL between phi eta and rho eta

« Special Kaon cut for TOF to reduce rho background

« We will also start peeking at final results today as well
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Barnes Cut Study for Phi




Barnes Cut Study for Eta




TOF Kaon Cut Derivation:

 The amount of time it takes a charged particle to reach the TOF
In the lab frame is given by:
(= 0X 00X
VB
* The timing difference between a pion and a kaon is therefore
given by:

ot

S X \/mT52+P2—\/mk2+P2
=—| ]
C P
* Since we know the observed momentum, P, and the masses of

a pion and kaon, as well as the distance to the time of flight
detector, we can use this function to separate pions from kaons.
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Invarant Masses with TOF Kaon Cut and CL = 10M-4

120 T T T T T T T T T T Entries 3461

B Mean 1.51 4 0.006199

100 Std Dev  0.3645 + 0.004383
80 N ]
60H ]

%ﬁ%ﬁmw b et T

2 2.5 3
PhiMass (GeV/c?)

120 _| T T T T T T T T T T T T T T T T T T |7a T T T T Entries 3418

— Mean 0.5458 £ 0.002144

B Std Dev 0.1251+0.001516
100 B % ]
80 u

N 7 7 —
b %WW% ‘ o .

o
7 1 7’//%

20

93 0.35 0.4 0.45 0.5 0.55 0.6 0.65 0.7 0.75
EtaMass (GeV/c?)



Final List of Cuts:

dE/dX Cut for Proton

Delta T for each particle species and sub detector
Kinematic Fitter Confidence Level

Beam Energy Cut

Beam Bunch Cut (RF Time)

Vertex Cuts

P vs Theta Cut for Photons (Reduces Secondaries)
TOF Kaon Cut

Number of photons reconstructed in the event
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Overall Results, All Data
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Signal And Background Cuts

Y)Y, Invariant Mass vs K'K' Invariant Mass
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Delta Phi
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Phi Meson, GJ (phi)
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